ARA’s must be paid if development is within an ARA Basin (whether or not arterial
roads are required to be constructed as a requirement within the servicing agreement).

OE = Assessment Payable (Contribution to Previous Developers’ OE or ARA Rate *
Assessable Area) + Estimated Construction Costs (Including Land Dedication Costs) —

ARA amount

Assessment Payable: (2 Streams)

Stream 1:
No arterial construction
req’d in servicing
agreement
CALC A CALC B!

i A 3
Pay ARA Pay sum of
Rate x proportion of costs
Assessable from existing
Area developer OE based

on ratio of

assessable area

Developer Required
to pay the greater of
the two
assessments. B:
usually governs.
(Except for special
cases; e.g. City has
right to defer ARA
calc B). Cases not
limited to this
example.

Recovery OE = Assessment + Construction Costs (Would be Zero) — ARA amount




Stream 2:

f CALC 8"

Arterial Construction Req'd in
servicing agreement; need to
provide access to
development

caLe C! J

Pay sum of
proportion of costs
from existing
developer OE based
on ratio of
assessable area

Recovery OE = Assessment + Construction Costs — ARA amount

Pay sum of proportion of
costs from existing
developer OE based on
ratio of existing OE to
total OE. This
assessment (C) governs
in the case of a
developer incurring
construction.

If estimated construction
costs are greater than or
equal to calculation based
on the assessable areas,
then no assessment
payable is required, b/c
developer contribution to
construction is in excess of
what would be required to
payback previous
developers.
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